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SRS ESEan)
oHEE FHOlet

=
22EAH 23

5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 QI AAIE E X 20,000 20,000 0
OUEH WMAMNE HXH 20,000
FTA 2 XM 29 XK (22 HRH) 25,000 30,000 A5,000
307 gizto| A 25,000 30,000 25,000
02 QI2tAAMAIE E =X 25,000 30,000 A5,000
OXLJFTAZ ZXIAMEH 229 K& 25,000
ZXAME N dAH 2 (2IH2H L) 1,850,000 1,080,000 770,000
307 212t0| & 1,850,000 1,080,000 770,000
02 QI2tAAMAIE E X 1,850,000 1,080,000 770,000
OXLJEXEIMEANHEYH 2IHAE 1,850,000
HSAE SHIHH 9,473,811 9,903,988 N430,177
Xl 7,058,000
= 2,415,811
HNEANE ALSUs XN (=21D) 7,567,000 8,173,888 A 606,888
Xl 7,058,000
= 509,000
403 XX SHHS K20 & 7,567,000 8,173,888 A 606,888
Xl 7,058,000
= 509,000
01 XIS A2E X 7,567,000 8,173,888 A 606,888
OFEANE AN S 7,567,000
N 7,058,000
& 509,000
HEAZ ot™ 22 K& 837,711 696,000 141,711
308 XHXIGHM SO0l & 837,711 696,000 141,711
01 AIKISHHENEXZ 837,711 696,000 141,711
O&XSESAIZE SIHEE It 33,000
OXSAIE HERA Hi X 804,711
NS A EAQO A2 52,500 67,500 A 15,000
201 Bt 30,000 20,000 10,000
03 HAI2 G HI 30,000 20,000 10,000
O A4 HUlA o2t ol 249 30,000
202 04d| 4,500 4,500 0
01 2Ll 4,500 4,500 0
OXS AL AEHHAG ALY F&H 4,500
301 et A= 18,000 18,000 0
09 HAIAHI B A2 18,000 18,000 0
ONSAIE AoAHALTZ 29 10,000
OZA 40 AHlA OF2tM0l 29 8,000
EHSIANE 4 K& 1,016,600 966,600 50,000
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201 Le-2d| 3,000 3,000 0

01 At 22l 3,000 3,000 0
OSd3a N s8AME =2 3,000

202 oddl 13,600 13,600 0

01 = LH o4 1l 13,600 13,600 0
OEds NE sdAMg =8 10,000
OFESAZE Al U3 =& 3,600

307 eI+l & 290,000 430,000 A 140,000

02 RIZFE MM E X 290,000 430,000 A 140,000
OHSANZE ZXNIABH =294 250,000
O=Zst2 tl=0l U=z ZEH 40,000

308 XXM SO0 A 460,000 460,000 0

01 HIXNHHNBMNELS 460,000 460,000 0
ONSAIE DX X 100,000
ONdSAIE OHAHE E2AMH 100,000
O2XXZ dSAE OtAHE 2F 260,000

403 MtXISHHE X201 E 250,000 60,000 190,000

01 XM A2EE 250,000 60,000 190,000
OANRAE AECIEE TS &X 150,000
OLDEAIE 222 S3NME A 100,000

Sot2elet AHIES 335,720 240,120 95,600
= 15,120
< 320,600

OHEXOI ZFJtatel 210,400 125,400 85,000

201 LB-2d| 38,800 29,800 9,000

01 At 2t 2l 38,800 29,800 9,000
osotetg el =& 38,800
OXsIIAAL B8 =& 25,000
OaxHIXNEHJS Y ARARS HFAH 3,000
SIHEEY B2HE 10,000
OS2IZLHER HERus Az, 257 800

202 o4dl 12,000 11,000 1,000

01 = LH o4 1l 12,000 11,000 1,000
OosotetE el ¥ AHIL FMFA 12,000

301 L2 AF 59,600 54,600 5,000

09 HALAHIEA S 59,600 54,600 5,000
OSNHIZUHRA HHIE4 54,600
Osa2RSIIY 23 KA 5,000

308 XXM SOIA 100,000 30,000 70,000
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HME: O ME FHIIG HEY(MY - BAIY/MAAE - DE5)

ool AdDol Y (S5 &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OMoix&3e i3 0XEA 50,000
N2 ZEXNEAY =& 19,000 1,947,000 A 1,928,000
101 @124 dl 17,000 15,000 2,000
4 JIZtHZ22HEE+ 17,000 15,000 2,000
ONB=ESENALEH & XA 17,000
202 04l 2,000 2,000 0
01 S LHOIYI 2,000 2,000 0
OFAHE MUSESKIAAY =2 2,000
srdolsA L) L ALRSHE F (MEISX/=2S) 5,122,500 2,625,750 2,496,750
= 80,000
J| 3,012,000
< 2,030,500
Jlso &4 4,249,000 1,938,250 2,310,750
J| 3,012,000
< 1,237,000
= Jls - Jsgy 2d =& 484,000 509,000 A 25,000
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O LMY = 4,000
307 glz2tol & 5,000 5,000 0
02 It A AHEE 5,000 5,000 0
O=dgll=e s0HE MsIIE SAES 5,000
308 XtXIEHH SOl A 475,000 500,000 225,000
10 SII 2 SOICHSHZ & = 0 & A& I 475,000 500,000 A 25,000
©JIs3dJlUta X& 475,000
ANEEs dXeI&E AG(ZD) 3,765,000 1,266,250 2,498,750
J| 3,012,000
< 753,000
307 gl2tol & 3,765,000 1,266,250 2,498,750
J| 3,012,000
< 753,000
02 It M AMHEE 3,765,000 1,266,250 2,498,750
OX9S - atgstsEd dAeldE N 3,765,000
J| 3,012,000
< 753,000
HE - AZE EERR 873,500 687,500 186,000
= 80,000
< 793,500
ANZ < AtsHE X & 170,000 165,000 5,000
308 XX EHHSOIA 170,000 165,000 5,000

01 AXSHHBSEES 170,000 165,000 5,000
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O:-M2FE SOISHSEUE X 40,000
O-sHELE XA AY 130,000
22A 2 2 SXNsSE MY =& 543,500 362,500 181,000
202 04l 6,000 6,000 0
01 = LHA YI 6,000 6,000 0
O AMNEY 2 FA 6,000
307 glz2tol & 357,500 356,500 1,000
02 It MAHEE 319,500 320,500 A 1,000
OLsHH A XA 103,000
QW& AIZ3 A X 120,000
o=22Xe ¢ I8 sotsis X2 12,000
ONSAx S ASE AP XI& 20,000
OL-SHENY NIAY 60,000
OEHe & HH K| 4,500
03 BIZIEHHEH2HHIEX 38,000 36,000 2,000
OZAE LAREES AIR= 29 K& 38,000
402 2I2H X201 M 180,000 0 180,000
01 It 2 A B (KM ) 180,000 0 180,000
Ost=2&E HEE32 HES 180,000
X AR B 245 AY EX(2D) 160,000 160,000 0
= 80,000
< 80,000
307 21201 A 160,000 160,000 0
= 80,000
< 80,000
02 IAHFAAHEX 160,000 160,000 0
OXY LARE o 245t =8 160,000
= 80,000
< 80,000
drel XN (MB=X/eS) 6,257,940 3,381,800 2,876,140
= 108,000
Xl 1,635,000
< 4,514,940
A H 300,000 280,000 20,000
ZZ22ANY N 300,000 280,000 20,000
308 XX EHH SOl A 300,000 280,000 20,000
01 AXSHBELS 300,000 280,000 20,000
02322 Mg 300,000
Hg=sd 5,957,940 3,101,800 2,856, 140
= 108,000
Xl 1,635,000
< 4,214,940
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He 2XAdXe|My XN (2IHEEIH) 37,500 37,500 0
308 XAHXIEHSOIA 37,500 37,500 0
01 AIXSHMENEX= 37,500 37,500 0
OUstaXdRe|IHdEe X 37,500
FHA=EXASE =X 2,626,940 758,100 1,868,840
101 Q124 H] 49,400 0 49,400
04 JI2ZtHIZ22NEE S 49,400 0 49,400
O YAl XNMYH MO X 49,400
201 et 25,000 15,500 9,500
01 AR 2t2l ] 25,000 15,500 9,500
OX=dXel HHEoG P4 - 29 10,000
OLXe Sez =& 10,000
OgZXel 240/ DESHAHIMNAS XA 5,000
202 044l 10,000 9,000 1,000
01 2Ll 10,000 9,000 1,000
OLXe Sz =& 10,000
203 R F & 10,000 0 10,000
03 AIEH =X H 2 F X Y| 10,000 0 10,000
OZ0tI=E L Xe| MMEN 10,000
307 QI2t0| & 1,080,000 0 1,080,000
02 AI2tAAMAIE E =X 1,080,000 0 1,080,000
OXdd LXels2H X3 780,000
OXdd LXeletaZH K& 300,000
308 XAHXIGHH SO0l & 1,312,540 733,600 578,940
01 IXHHIMNEXTS 1,312,540 733,600 578,940
OFHYAE X2l BEXZ2 N 1,000,000
OANT LXelXNSHE 29 XS 54,340
Oxderets Hx X 77,000
Oz - 08X CEHAM 29 181,200
402 SI2FXHE20| & 140,000 0 140,000
01 SIZEXIEANSEXR (MMM E) 140,000 0 140,000
OYXel 24J/g DEHINH X 140,000
NEAZSHLXNCIAISE (ZD) 2,125,500 2,306,200 A 180,700
N 1,635,000
= 490,500
308 XAXIGHHM SO0l & 2,125,500 2,306,200 A 180,700
N 1,635,000
= 490,500
01 HXHHIMNEXZ 2,125,500 2,306,200 A 180,700
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M FHEHY
M HHE2HAH(ZME ) (IIEHIIE)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OPIR==
(1,528, 1903 *62 )+( 1,563,830 6 ) 18,553
odoa3
(1,528,190& *13] )+(1,563,830& *23| ) 4,656
oF-ERs=
(1,528, 190& *20%)+(1,563,830%25%) 697
OAZ2 =g
(10, 1403 *150%*20 Al 2H+62 )+(10,350& *150 3,689
%x20Al 2t +6F )
OgresstsE 82,800& 15 1,242
OZ 2 FtHl
(1,528,190 *50%)+( 1,563,830 *50%) 1,547
Oz aldl 130,000& »12& 1,560
Oun &t 80,000& «x12& 960
OnExY 60,000& x12& 720
Jl2 &3l 70,165 58,795 11,370
2EM2E JI=2Z 70,165 58,795 11,370
201 £B-2dH| 43,765 35,995 7,770
01 At 22l 40,765 31,795 8,970
ORN2Y AR 22l 40,765
02 2324l 3,000 4,200 A1,200
OZ MBI &2 2AL2EH] 3,000
202 04l 16,200 12,600 3,600
01 = LHA YI 16,200 12,600 3,600
OFRNE2Y AL 16,200
203 R =&t 10,200 10,200 0
01 JI22E Y= 6,000 6,000 0
o=3% 6,000,000 6,000
04 FANSEHE=LH 4,200 4,200 0
©302! Olat 350,000& = 12& 4,200




